
Subtracting Money

1. Circle the difference between the two 

amounts.

4. Jamie is saving up to buy a remote 

control car. He thinks he needs another 

£2.

Is he correct? 

Explain your answer. 

2. How much more does the teddy cost 

than the lorry?  

5. India is buying sweet treats. 

A box of cup cakes costs £3 and 5p. 

The difference between the price of the 

cup cakes and a pack of cookies is £3 

and 80p. 

How much is a pack of cookies? Prove it.

3. Use the money shown below to 

complete the bar model.

6. Shanice has £3 and 83p. 

Some money has fallen out of her bag. 

These are the coins she has left. What 

coin(s) could she have dropped? 

Give two possibilities. 
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Subtracting Money

1. 30p

2. 45p 

3. 

4. Jamie is incorrect. The remote control car is £14 but Jamie only has £8. He needs £6.

5. The pack of cookies could be £6 and 85p (£3 and 5p + £3 and 80p) or 75p (£3 and 80p 

– £3 and 5p). 

6. Various answers, for example: 10p and 2p; 2 x 5p and 2 x 1p; 10p, 2 x 1p
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